THI1E 2R
=

=EE MR BRE 4 (TEFFTE SB | A8
1 | |[fA%H
2 |B|A%H BHE
3 | B |REMEREEE~TH £8S 15:40 O
4 | K 15:30 O
5 | 7K 15:30 O
6 | K|&NMAFEHRAS 15:30 O
7| € |[(B2)RERFOOSBERA(ITENDA) FAE 15:30 O
8 | |IA%H
9 | B |A%H
10| B |REFEH
|k |KEBR FHE
12 | 7K 15:30
13|k |FEAE (®TRAMERI330 BE o
(BE)TH13:30 (B1.2)BEEXFYNE)T—3 _
141 |« pepe B 26/ 0/(SBHEA) S 1530 | ©
15| £ [PA%EH
16| H |A%XHB BHAE
17| B |2 HIEAERTAFO(HRE) T45£13:30 13:30 O
18| X | BRHRT A(HE) FH13:30 13:30 | O
19| K | EIHIRT XD () T#:13:30 el e
20 | K 15:30 O
HNBBE (FFRAVMIOTR 5d3E| o
21/ % o pa PTARES M2 1530 | O
22 | |1A%¥8 HAETY T —UIEEEIERAER
23| B |[IAER #H=wSEMERFER
24 | B (A&
L I (ERBRNEEO@EMNEKESBER) (E3)F% .
25 | &k k1330 T £ 15:30 O
26 | K ((BE3)FRERADYMIIOTR 1530 | O
27 | A |ALT (E3)F#HYM330THK (B)EHIE 15:30 O

® (EII)F#HHDYMIB0THK




